R7.6.1 Bl SramEEAnR S sl R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
¥ 50, 392 109, 896] 53, 333] 56, 563 76 22 47 55 102 69] 431 362 0 130 130
HI—TH 720l 1,461 697 764 -2 -1 -1 0 1 1 6 5 -1 1 2
FLl T H 594 1,358 674 684 -1 0 -1 2 3 -2 2 4 3 3 0
LI =TH 476 1,025 489 536 1 1 0 1 1 0 1 1 1 1 0
SLLAER 1, 7900 3,844 1,860| 1,984 =2 0 -2 3 5 -1 9 10 3 5 2
Sk —TH 502 948 445 503 -1 -5 -2 0 2 ~4 4 8 1 1 0
oA _TH 772l 1,692 809 883 11 11 -2 0 2 7 10 3 6 8 2
SR —TH 569 1,299 619 680 3 8 1 2 1 4 5 1 3 6 3
S AT H 401 882 445 437 -1 -2 0 0 0 -1 0 1 -1 0 1
ot T H 635/ 1,303 624 679 1 4 0 2 2 2 3 2 3 1
BN T B 237 479 247 232 -1 0 0 1 1 0 1 0 0 0
ARt TH 709 1,724 842 882 5 21 -1 0 1 15 21 6 7 7 0
oA\ T H 400 842 390 452 1 0 -1 0 1 2 2 0 -1 1 2
IV B 649 1,511 735 776 0 0 0 2 2 2 4 2 -2 0 2
SEor e atl 4,874 10,680| 5,156 5,524 18 37 -5 7 12 27 52 25 15 26 11
e n—1H 366 787 384 403 -1 -2 -2 0 2 0 3 3 0 0 0
w7 HL 1,051 2,097] 1,048 1,049 2 2 1 1 0 0 3 3 1 1 0
HHk o —TH 673| 1,344 658 686 0 -1 -1 0 1 2 7 5 -2 1 3
Wk A ErL 2,000 4,228] 2,090] 2,138 1 -1 -2 1 3 2 13 11 -1 2 3
ST a1 H 570[ 1,231 599 632 4 2 -1 0 1 4 5 1 -1 0 1
ek R _TH 363 915 455 460 1 2 -2 0 2 1 3 2 3 4 1
Mk R =TH 263 558 289 269 -2 -2 -1 0 1 0 1 1 -1 0 1
ik L G| 562 1,282 652 630 -3 -6 0 0 0 -6 0 6 0 0 0
msEr aaEt] 1,758 3,986 1,995 1,991 0 —4 —4 0 4 -1 9 10 1 4 3
TEIT) 384 820 390 430 -1 -2 -2 0 2 0 3 3 0 0 0
HOEEN— T H 205 419 208 211 0 -2 -1 0 1 -1 0 1 0 0 0
HOEE T H 457 976 476 500 4 2 -1 0 1 5 7 2 -2 3 5
HoEEI =T H 752 1,758 855 903 0 -5 -3 1 4 -2 2 4 0 0 0
HOEEAN T H 898 2,163| 1,083 1,080 5 0 -2 1 3 -1 4 5 3 6 3
HEROH T H 444 1,016 515 501 7 7 -1 0 1 8 9 1 0 0 0
HOEEIS T H 403 847 410 437 3 6 1 1 0 0 1 1 5 5 0
HoEEOETH 685 1,426 704 722 -1 -6 -2 1 3 -3 3 6 -1 0 1
HOEESOSEE| 3,844| 8,605 4,251| 4,354 18 2 -9 4 13 6 26 20 5 14 9
PEEE 1,531 2,690 1,282 1,408 2 -3 -3 0 3 5 11 6 -5 1 6
FHIAR 312 635 325 310 1 0 0 0 0 2 2 0 -2 0 2
EE g —T 569 1,114 522 592 0 2 0 1 1 3 5 2 -1 2 3
EE g — T 259 495 239 256 4 4 0 0 0 5 7 2 -1 1 2
R =T H 5471 1,154 579 575 2 -1 -1 0 1 -2 2 4 2 2 0
TEE Py T 659 1,298 620 678 -1 1 -1 1 2 -1 6 7 3 4 1
EEP g R T H 247 553 271 282 1 1 0 0 0 1 1 0 0 0 0
EEP A2 2 2811 4,614| 2,231 2,383 6 7 -2 2 4 6 21 15 3 9 6
EEIARRT— T H 749l 1,428 677 751 12 10 1 1 0 13 31 18 —4 1 5
EEIARRT T H 718 1,338 607 731 6 5 -1 0 1 6 11 5 0 0 0
EEOARRTAE 1,467 2,766] 1,284 1,482 18 15 0 1 1 19 42 23 —4 1 5
RPN 278 759 412 347 —4 -6 -1 0 1 -6 6 1 1 0
WHR—TH 762l 1,657 811 846 1 -5 -1 0 1 0 3 —4 1 5
WOOR T H| 1,729 3,874| 1,867| 2,007 2 -6 1 4 3 0 18 18 -7 3 10
WHR=TH 895 2,218| 1,081 1,137 1 -2 1 1 0 -3 4 7 0 0 0
HHRIT H 5021 1,177 550 627 -1 0 0 2 2 0 0 0 0 0 0
HPREEE 3,888 8,926| 4,309 4,617 3| -13 1 7 6 -3 25 28]l -11 4 15
HiR—TH 736 1,565 758 807 -2 -5 0 0 0 -3 1 4 -2 1 3
LR - TH 987|l 2,277] 1,150 1,127 -3 4 -2 0 2 9 16 7 -3 0 3
PR =TH 522 1,067 547 520 6 3 0 0 0 1 11 10 2 2 0
dbrhiR&aE 2,245 4,909| 2,455| 2,454 1 2 -2 0 2 7 28 21 -3 3 6
T IROBTHT 323 785 371 414 0 0 0 0 0 0 0 0 0 0
el 1,664 5,092 2,279 2,813 6 12 -1 3 4 8 15 5 7 2
M E T H 814] 1,825 884 941 -1 -2 2 2 0 0 1 -4 0 4




R7.6.1 Bl SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 801l 1,819 911 908 —4 -9 0 3 3| -10 4 14 1 4 3
MoE =1 H 646 1,489 729 760 -2 -2 -1 0 1 -1 1 2 0 3 3
A EN T H 941 2,180 1,036 1,144 -2 -3 1 1 0 -2 5 7 -2 0 2
RCENNE 688 1,507 737 770 2 4 -1 1 2 0 5 5 5 5 0
MAEST H 425 961 438 523 —4 -9 -3 0 3 -4 1 5 -2 3 5
mAlEaa 4,315]| 9,781] 4,735 5,046 11| 21 -2 7 of  -17 17 34 -2 15 17
VEPIe S 5910 1,147 557 590 -2 -2 1 1 0 1 4 3 —4 0 4
e —TH 323 671 321 350 -2 -3 —4 0 4 1 3 2 0 1 1
i — T H 600|l 1,298 615 683 —4 -9 -2 0 2 -8 1 9 1 1 0
A gl 923 1,969 936| 1,033 6| 12 -6 0 6 -7 4 11 1 2 1
Eh— 1 H 341 748 382 366 -1 —4 0 1 1 1 1 0 -5 0 5
B — T H 694 1,419 674 745 0 1 -1 0 1 2 5 3 0 1 1
=T H 44101 1,079 542 537 0 -1 0 0 0 -1 2 3 0 0 0
EAaEkl 1,476|  3,246| 1,598 1,648 -1 —4 -1 1 2 2 8 6 -5 1 6
e —TH 388 907 426 481 -1 -7 0 0 0 -6 2 8 -1 0 1
WHE T H 454/ 1,065 525 540 2 3 0 0 0 2 3 1 1 3 2
HWHE =T H 867 2,084| 1,045 1,039 7 6 -1 1 2 7 11 4 0 2 2
W& T B 439 988 475 513 1 5 1 1 0 3 4 1 1 2 1
B E ] H 857l 1,815 894 921 1 2 1 1 0 3 10 7 -2 0 2
HHIENT H 254 497 245 252 -1 -5 -2 0 2 -2 0 2 -1 0 1
HEOEr 3,209 7,356 3,610 3,746 9 4 -1 3 4 7 30 23 -2 7 9
<HWE—TH 601fl 1,301 630 671 0 0 0 0 0 -1 3 4 1 1 0
<HEIL—TH 7200 1,447 715 732 1 -3 0 0 0 -2 6 8 -1 0 1
SHBEIL=TH 514 1,096 535 561 -2 -8 -3 0 3 -5 1 6 0 0 0
<HEWLPTH 584 1,169 568 601 6 9 -1 0 1 3 5 2 7 8 1
<O T H 277 575 303 272 -2 -8 0 0 0 -3 1 4 -5 1 6
<WEIEEH 2,696 5,588 2,751 2,837 3 -10 —4 0 4 -8 16 24 2 10 8
WIE AR —TH 815l 1,691 833 858 -3 —4 1 2 1 -6 10 1 1 0
WIEAR T H 484 1,129 580 549 1 0 0 0 0 0 2 0 0 0
PIEARTSE 1,299 2,820| 1,413 1,407 -2 —4 1 2 1 -6 12 1 1 0
s 424 793 383 410 5 9 0 1 1 5 1 4 4 0
ek —TH[ 1,193 1,858 855 1,003 0 1 1 1 0 0 15 15 0 2 2
e T H 605 1,085 523 562 9 9 1 1 0 7 10 1 1 0
kR =T H 741 1,795 842 953 1 4 1 3 2 2 11 1 3 2
sk BRI H 430 855 410 445 3 -1 1 1 0 1 5 -3 1 4
oA El 2,969 5,593 2,630 2,963 13 13 4 6 2 10 41 31 -1 7 8
FRIREET 20 48 25 23 0 0 0 0 0 0 0 0 0 0 0
B 737 1,701 812 889 1 0 -1 3 4 1 4 3 0 0 0
VEEE 333 708 323 385 0 -1 -3 0 3 1 1 0 1 1 0
e — T H 452 1,080 534 546 -2 -5 -1 0 1 -1 5 6 -3 0 3
e T H 422 916 453 463 2 2 0 0 0 0 3 3 2 3 1
oo B R 874 1,996 987 1,009 0 -3 -1 0 1 -1 8 9 -1 3 4
P — T H 700( 1,427 711 716 3 8 1 2 1 7 12 5 0 0 0
a1 H 524 1,240 578 662 -11 -8 -1 0 1 -5 5 10 -2 0 2
Ve A Er 1,224 2,667 1,289 1,378 -8 0 0 2 2 2 17 15 -2 0 2
P e 311 678 344 334 7 7 -1 1 2 7 10 3 1 1 0
BEHIR 212 466 250 216 1 -1 0 1 1 3 2 0 1 1




